Family Functions Part 2 - Study Guide
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For #1 — 8 give the parent function name and equation, all a, h, and k values with their transformations.
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Find the transformed equation by using all the information from the graph and find the a-value. SHOW ALL WORK
*rEERREEEE If you are given only one point, that is the major point and the a value is 1. If you have two points then

you must solve for a - value.
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Use the following arbitrary graph of y = f(x) to describe the transformations-and sketch a graph of the
transformed function.

13. Transform the arbitrary function in “a” for questions b and c.
‘a. Create a table to represent this arbitrary function.
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